1. How many perfect 4-digit squares start with 3 and end with 5? [3 points]
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2. Christian added 3g. of salt to 17g. of water. What is the percentage of salt in the
solution obtained? [4 points]
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3. The difference aaa-bbb with a> b is certainly divisible by: [4 points]
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4. A group of 23 students are lined up according to the following rules:
e the first student is 9 years old, and the 15th and last are 13 years old each.

o if the arithmetic mean of the ages of the first and last student is increased by 1, it will be
the age of a student in a row which coincides with the place occupied by that student in a
row.

 the sum of the ages of any 4 neighboring students is 45.

What is the age of the 11th grade student? [5 points]
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5. If
A=-J neN a=2n(2n+1)+3n(n+4)+616,1
\ =" | a:56, n<2014
What is the cardinal of the set A? [5 points]
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6. Let a, b, ¢, d be strictly positive rational numbers. [3 points]
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2c+d 3c+d 4c+d

Calculate

ba+b
5c+d
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2a+b_3a+b4a+b=8
2c+d 3c+d 4c+d
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7. If a-b=0.5 and c=4, then calculate [3 points]
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A) 1.2 B) 1 C)144 D)O E) 1.728

8. A rectangle can be decomposed into 1344 squares, each with a side of 5cm. Find the

greatest possible perimeter of rectangle? [4 points]
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A) 625cm B) 1500cm C) 13440cm D) 13450cm E)
14440cm

9. An aquarium has the shape of a cube with the side of 50cm. At what height does the

water rise in this aquarium if the volume of water is 100 liters? [3 points]
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A) 10cm B) 20cm C) 25cm D) 30cm

10.How many squares are there in the given figure?
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A) 32 B) 34 C) 36 D) 39 E) 40

E) 40cm

[5 points]



